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QUESTION 1

To be an effective Lean Six Sigma practitioner one must understand the difference between
___________________________. 

A. ANOVA and the Analysis of Variance 

B. Nonparametric tests and tests of Non-normal Data 

C. Practical and Statistical significance 

D. F-test and test of variances of 2 samples 

Correct Answer: C 

 

QUESTION 2

Data that can be measured on a continuum and has meaningful decimal subdivisions are __________ data. 

A. Continuous 

B. Surplus 

C. Discrete 

D. Variable 

Correct Answer: A 

 

QUESTION 3

Contingency Tables are used to test for association, or dependency, between two or more classifications. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

The Mann-Whitney test is a powerful test and is unique to situations from which of the choices listed? (Note: There are 2
correct answers). 

A. Testing the identity of two populations 

B. Focuses on equality of the Median of the two populations 

C. Less powerful than the traditional "t-test" 
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D. More widely applicable than the traditional "t-test" 

Correct Answer: BD 

 

QUESTION 5

What is the Ppk of a process with a spread of 24 units, an average of 68, an upper limit of 82 and a lower limit of 54? 

A. 1.68 

B. 2.00 

C. 4.00 

D. 4.42 

Correct Answer: C 
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